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Note: You have four choices for each objective type question as A, B, C and D. -qLJ’)}ww,;gv
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Geography is the knowledge of:- 44@#‘,3'!/‘2 (1)
(A) Earth € %) (B) Sky KukT (C) Stars §Ust- (D) Orbits §Us/lu

(2) Parts of Physical Geography are:- -q;i’zié,ji/?dfb 2)
(A) 3 (B) 4 ©) 5 D) 6

(3) The main types of Rocks are:- -%t(ﬁ'd”/.d/uil’% (3)
(A) 3 (B) 4 ) 5 (D) 6

(4) Crustal Plates were discovered in:- _dnesslusts s (4)
(A) 1950 (B) 1960 (C) 1970 (D) 1980

(5) The main source of Energy is:- «LLG;""/.:_./K:AV (5)
(A) The Ocean .+ (B) The Sun C.# (C) The Volcano ut‘ﬁff (D) Earth ¢xJ

(6) River action comprises _____ stages, - "“/?th'/_ J’?&n (6)
(A) Two  »» (B) Three Jf (C) Four Jk (D) Five ég

(7) The largest Ocean is:- (A) The Indian Ocean #: / N e (7)
(B) The Atlantic Ocean J¥{sl 7 (C) The Pacific Ocean ¢!/ (D) The Arctic Ocean (¥4 7

(8) Amount of Nitrogen in Air is:- «Laﬂ,&fd/u@/"/tuffw (8)
(A) 60.2 % (B) 66.0 % (C) 78.03 % (D) 82.5 %

(9) Thickly populated are:- Ll Tunlie o 9)
(A) Mountains Jly (B) Plateaus c’“}ckf (C) Plains ix» (D) Deserts 17

(10) Political Geography was founded in:- - ’%w{,}yz& (10)
(A) 1960 (B) 1980 (C) 1930 (D) 1940

(11) Rocks are found in:- 'Lff&ﬂjkdﬁ& (11)
(A) Lithosphere J“S/%:/  (B) Atmosphere uﬁ’dfﬂm// (C) Biosphere uﬁ':«lgo/'/ (D) Hydrosphere u.‘&,l’o/'/

(12) Plutonic rock belongs to:- (A) Igneous Rocks Luitgfl’ -LéJQKuLfg&w:f, (12)
(B) Sedimentary Rocks « (#(3 /152 (C) Organic Rocks « Uslzdit (D) Aeolian Rocks « s tzix

(13) Types of mountains on age basis:- <q7u:‘3d/u:ig44;39£/ (13)
(A) 3 (B) 4 ) 5 D) 6

(14) Normal height of Plateau is:- -‘adA(vur(‘fy/é/ (14)
(A) 300 m (B) 500 m (C) 600 m (D) 700 m

(15) Drumlins are formed by:- -uj& f"jﬁ (15)
(A) Glaciers #* ¢ (B) Wind s (C) Water :_dg (D) Sunlight «

(16) On 21st June, Sunrays fall vertically on:- -uj&”/ﬁ/ufbﬁd/@mfuﬁ 21 (16)
(A) Tropic of Cancer b4 (B) Capricorn S«  (C) Equator 151 (D) North Pole $F_s

(17) Isobars show:- gL LeAAT (17)
(A) Pressure 3i» (B) Temperature «..7 (C) Water flow MK[}& (D) Glacier /fi‘g
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